On A New Special Differential Equation and Its Polynomials

Mohammed M. A.¹, Baiyeri J. F.², Ogunbayo T.O.³ Enobabor O. E.⁴ And Ayeni O.M⁵

Department Of Mathematics, Yaba College Of Technology, Yaba, Lagos, Nigeria^{1, 2, 3 4&5} Corresponding Author: Mohammed M. A.

Abstract: Special differential equations and polynomials are very popular in the field of mathematics and serve as important tools in the solution of some engineering problems. Examples of these equations are Legendre, Hermite, Laguerre, Bessel, Gegenbaur differential etc. In this paper, we established a new special differential equation and its polynomial which we named as Mohammed's equation and polynomial. The Rodrigue formula, generating function and recurrence relations of the polynomial are given. We also presented the orthogonality properties of the polynomials and our results are entering the literature for the first time.

Keywords: Generating function, Rodrigue formula, generating function, recurrence relations and orthogonality.

Date of Submission: 05-11-2017

I. Introduction

The equation (Mohammed's equation) is a second order ordinary differential equation given by

$$xy'' + (1+x)y' - ny = 0$$

where *n* is a positive integer and the equation converges in the interval $(-\infty, 0)$.

The solution of (1.1) is given by the linear combination

$$y(x) = c_1 M_n(x) + c_2 A_n(x)$$
(1.2)

Where $M_n(x)$ is the Mohammed's polynomial of order *n* and $A_n(x)$ is Mohammed's function of order *n*

II. Solution of The Equation

The differential equation has a regular singular point at x = 0, so we apply Frobenius method.

On letting $y(x) = \sum_{r=0}^{\infty} a_r x^{r+c}$, differentiating twice, plugging these results into (1.2) and simplifying, we

obtain

$$\sum_{r=0}^{\infty} (r+c)^2 a_r x^{r+c-1} - \sum_{n=0}^{\infty} (n-r-c) a_r x^{r+c} = 0$$
(1)

Equating the coefficient of x^{c-1} in the first summation, we get

 $a_0c^2 = 0$, since $a_0 \neq 0$ then $c^2 = 0$ $\therefore c = 0$ twice

Replacing r by (r + 1) in (1) and equating the common coefficient, the recurrence relation becomes

$$a_{r+1} = \frac{n - r - c}{\left(r + c + 1\right)^2} a_r \tag{2}$$

If
$$c = 0$$
, (2) becomes $a_{r+1} = \frac{n-r}{(r+1)^2} a_r$ (3)

Putting r = 0, 1, 2, 3, ..., r in (3), we obtain

$$a_{r} = \frac{n(n-1)...(n-r+1)}{1^{2}.2^{2}...r^{2}}a_{0} = \frac{n(n-1)...(n-r+1)}{[1.2...r]^{2}}\frac{(n-r)!}{(n-r)!}a_{0} = \frac{n!a_{0}}{(n-r)![r!]^{2}}; \qquad r = 0,1...$$

$$y_{1}(x) = \sum_{r=0}^{\infty} a_{r}x^{r+c} = a_{0}\sum_{r=0}^{\infty} \frac{n!x^{r+c}}{(n-r)![r!]^{2}}$$

$$(2.1)$$

DOI: 10.9790/5728-1306041518

Date of acceptance: 28-12-2017

(1.1)

Also, Putting r = 0, 1, 2, 3, ..., r in (2), we get

$$a_{r} = \frac{(n-c)(n-c-1)(n-c-r+1)}{(c+1)^{2}(c+2)^{2}...(c+r)^{2}}a_{0}; \qquad r = 1,...$$

$$y(x) = a_{0}x^{c} + a_{0}\sum_{r=1}^{\infty} \frac{(n-c)(n-c-1)(n-c-r+1)x^{r+c}}{(c+1)^{2}(c+2)^{2}...(c+r)^{2}}$$
Now, $\frac{\partial y}{\partial c} = a_{0}x^{c}\ln x + a_{0}\sum_{r=1}^{\infty} \frac{(n-c)(n-c-1)...(n-c-r+1)x^{r+c}\ln x}{(c+1)^{2}(c+2)^{2}...(c+r)^{2}} - a_{0}\sum_{r=1}^{\infty} \frac{(n-c)(n-c-1)(n-c-r+1)x^{r+c}}{(c+1)^{2}(c+2)^{2}...(c+r)^{2}} \times \frac{\left\{\frac{1}{n-c} + \frac{1}{n-c-1} + ... + \frac{1}{n-c-r+1} + \frac{2}{c+1} + \frac{2}{c+2} + ... + \frac{2}{c+r}\right\}}{\left\{\frac{1}{n-c} + \frac{1}{n-c-1} + ... + \frac{1}{n-c-r+1} + \frac{2}{c+1} + \frac{2}{c+2} + ... + \frac{2}{c+r}\right\}}$

$$y_{2}(x) = \frac{\partial y}{\partial c}\Big|_{c=0} = y_{1}(x)\ln x - a_{0}\sum_{r=1}^{\infty} \frac{n(n-1)...(n-r+1)x^{r}}{(n-r)!(r!)^{2}} \left\{\frac{1}{n} + \frac{1}{n-1} + ... + \frac{1}{n-r+1} + 2H_{r}\right\}$$

$$y_{2}(x) = y_{1}(x)\ln x - a_{0}\sum_{r=1}^{\infty} \frac{n!x^{r}}{(n-r)!(r!)^{2}} \left\{\frac{1}{n} + \frac{1}{n-1} + ... + \frac{1}{n-r+1} + 2H_{r}\right\}$$

$$(2.2)$$

Where $H_r = 1 + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{r}$ is an harmonic function.

Hence, the general solution becomes $y(x) = Ay_1(x) + By_2(x)$

2.1 Mohammed's Polynomial $M_n(x)$

If we let $a_0 = n!$ in (2.1), it yields $y_1(x) = \sum_{r=0}^{\infty} \frac{[n!]^2}{(n-r)!} \frac{x^r}{[r!]^2}$

The series exists only when $n-r \ge 0$ or $n \ge r$. Hence Mohammed's polynomial becomes

$$M_{n}(x) = \sum_{r=0}^{n} \frac{[n!]^{2}}{(n-r)!} \frac{x^{r}}{[r!]^{2}}$$
(3.1)

A few of the polynomials are as follow; $A = \frac{1}{2} \int_{-\infty}^{\infty} \frac{1}{$

$$M_{0}(x) = 1$$

$$M_{1}(x) = x + 1$$

$$M_{2}(x) = x^{2} + 4x + 2$$

$$M_{3}(x) = x^{3} + 9x^{2} + 18x + 6$$

$$M_{4}(x) = x^{4} + 16x^{3} + 72x^{2} + 96x + 24$$

All these polynomials satisfy the differential equation (1.1) and can be verified. If we also let $a_0 = n!$ in (2.2), we get

$$A_{n}(x) = M_{n}(x) \ln x - \sum_{r=1}^{\infty} \frac{[n!]^{2} x^{r}}{(n-r)!(r!)^{2}} \left\{ \frac{1}{n} + \frac{1}{n-1} + \dots + \frac{1}{n-r+1} + 2H_{r} \right\}$$
(3.2)

This is known as Mohammed's function of order n.

2.3 Generating Function For $M_n(x)$

The generating function for $M_n(x)$ is given as

$$\sum_{n=0}^{\infty} \frac{M_n(x)t^n}{n!} = \frac{1}{1-t} e^{\frac{xt}{1-t}}$$
(4.1)
Proof:
$$\sum_{n=0}^{\infty} \frac{M_n(x)t^n}{n!} = \sum_{n=0}^{\infty} \frac{t^n}{n!} \left\{ \sum_{r=0}^n \frac{[n!]^2}{(n-r)!} \frac{x^r}{[r!]^2} \right\} = \sum_{n=0}^{\infty} \sum_{r=0}^n \frac{n!}{(n-r)!r!} \frac{x^r}{r!} t^n$$

On letting n - r = s, we get

$$\sum_{n=0}^{\infty} \frac{M_n(x)t^n}{n!} = \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(r+s)!}{s!r!} \frac{x^r}{r!} t^{r+s} = \sum_{r=0}^{\infty} \frac{(xt)^r}{r!} \sum_{s=0}^{\infty} \frac{(r+s)!}{s!r!} t^s = \sum_{r=0}^{\infty} \frac{(xt)^r}{r!} \left[\frac{1}{1-t}\right]^{r+1}$$
$$= \frac{1}{1-t} \sum_{r=0}^{\infty} \frac{1}{r!} \left[\frac{xt}{1-t}\right]^r = \frac{1}{1-t} e^{\frac{xt}{1-t}}$$

Hence the proof

2.4 Rodrigue Formula For $M_n(x)$

The Rodrigue formula for $M_n(x)$ is given as

$$M_n(x) = e^{-x} D^n(x^n e^{-x})$$
(5.1)

Proof: We know from Leibnitz theorem that, $D^n(uv) = \sum_{r=0}^n {}^nC_r D^{n-r} u D^r v$ and that

$$D^{m}x^{n} = \frac{n!}{(n-m)!}x^{n-m}, n \ge m$$

$$\therefore D^{n}(x^{n}e^{-x}) = \sum_{r=0}^{n} {}^{n}C_{r}D^{n-r}(x^{n})D^{r}(e^{x}) = \sum_{r=0}^{n} \frac{n!}{(n-r)!r!}\frac{n!}{r!}x^{r}e^{x}$$

$$= e^{-x}\sum_{r=0}^{n} \frac{n!}{(n-r)!r!}\frac{n!}{r!}x^{r} = e^{-x}M_{n}(x)$$

 $\therefore M_n(x) = e^x D^n(x^n e^{-x})$

This completes the proof. The Rodrigue formula can be used to establish the polynomials $M_n(x)$.

2.5 Recurrence Relations For $M_n(x)$

On differentiating both sides of the generating function with respect to t, equating the coefficients of t^n and simplifying, we obtain

$$M_{n+1}(x) = (x+2n+1)M_n(x) - n^2 M_{n-1}(x)$$
(6.1)

Differentiating also with respect to x and equating the coefficients of t^n yields

$$M'_{n}(x) = nM_{n-1}(x) + nM'_{n-1}(x)$$
(6.2)

These are the recurrence relations for $M_n(x)$

III. Orthogonality Properties

The orthogonality properties for $M_n(x)$ is given as

$$\int_{-\infty}^{0} e^{x} M_{n}(x) M_{m}(x) dx = [n!]^{2} \delta_{mn}$$
(7.1)

Where δ_{mn} is the kronelka delta

Proof: Since $M_n(x)$ and $M_m(x)$ satisfy (1.1), we must have that

$$xM_{n}''(x) + (1+x)M_{n}'(x) - nM_{n}(x) = 0$$
 (i)
$$xM_{m}''(x) + (1+x)M_{m}'(x) - mM_{m}(x) = 0$$
 (ii)

Multiplying (i) by $M_m(x)$ and (ii) by $M_n(x)$ and simplifying yields

$$x\frac{dM}{dx} + (1+x)M = (m-n)M_m(x)M_n(x); \qquad \text{where } M = M'_mM_n - M'_nM_m$$

Using integrating factor methods, the solution yields

$$M \exp\left(\int \left(1 + \frac{1}{x}\right) dx\right) = \int \exp\left(\int \left(1 + \frac{1}{x}\right) dx\right) \frac{(m-n)M_m(x)M_n(x)}{x} dx$$
$$\left[Mxe^x\right]_{-\infty}^0 = (m-n)\int_{-\infty}^0 e^x M_m(x)M_n(x) dx = 0$$
If $m \neq n$, then $\int_{-\infty}^0 e^x M_m(x)M_n(x) dx = 0$

Now, If m = n;

Squaring both sides of the generating function, we have

$$\sum_{n=0}^{\infty} \frac{\left[M_{n}(x)\right]^{2} t^{2n}}{\left[n!\right]^{2}} = \frac{1}{\left(1-t\right)^{2}} e^{\frac{2xt}{1-t}} \quad \therefore \sum_{n=0}^{\infty} \frac{e^{x} \left[M_{n}(x)\right]^{2} t^{2n}}{\left[n!\right]^{2}} = \frac{e^{x}}{\left(1-t\right)^{2}} e^{\frac{2xt}{1-t}} = \frac{1}{\left(1-t\right)^{2}} e^{\frac{x(1+t)}{1-t}}$$
$$\therefore \sum_{n=0}^{\infty} \frac{t^{2n}}{\left[n!\right]^{2}} \int_{-\infty}^{0} e^{x} \left[M_{n}(x)\right]^{2} dx = \frac{1}{\left(1-t\right)^{2}} \int_{-\infty}^{0} e^{\frac{x(1+t)}{1-t}} = \frac{1}{1-t^{2}} = \sum_{n=0}^{\infty} t^{2n}$$

Equating the coefficients of t^{2n} from both sides, we get

Equating the coefficients of t^{2n} from both sides, we get

$$\frac{1}{[n!]^2} \int_{-\infty}^0 e^x [M_n(x)]^2 dx = 1 \qquad \therefore \int_{-\infty}^0 e^x [M_n(x)]^2 dx = [n!]^2$$

This completes the proof

IV. Further Research

In our next research work, we (or any interested researcher in the field) intend to present the following

- 1. Application of Mohammed's polynomial
- 2. Integral representation of the polynomial

3. Series of the type
$$f(x) = \sum_{n=0}^{\infty} c_n M_n(x)$$

4. Confluent hypergeometric representation of (1.1) and lots more

Reference

- [1]. E. D. Rainville, Special Functions, Macmillan, New York, 1960; Reprinted by Chelsea Publ. Co., Bronx, New York, 1971.
- [2]. G. Dattoli, A. Torre and M. Carpanese, Operational rules and arbitrary order Hermite generating functions, J. Math. Anal. Appl. 227 (1998), 98-111
- [3]. H. S. P. Srivastava, Some generating function relations of multi-index Hermite polynomials, Math. Comput. Appl. 6(3) (2001), 189-194.
- [4]. H.K. DASS; Advanced Engineering Mathematics, S.Chand & Company LTD. (AN ISO 9001: 2000 COMPANY) Ram Nagar, New Delhi-110055, 1999.Isbn: 81-219-0345-9
- [5]. M.D. Raisinghania; Advanced Differential Equations, S.Chand & Company Ltd. (An Iso 9001: 2000 Company) Ram Nagar, New Delhi-110055, 2010isbn: 81-219-0893-0

Mohammed M. A "On A New Special Differential Equation and Its Polynomials." IOSR Journal of Mathematics (IOSR-JM) 13.6 (2017): 15-18.